1.

RETAL 2XAERX WBW3 02

ROFRERZRT. (SHh29, A3y, Bikdsr, Cb5m30%)

(1) 22-144=0 (2) 1022 =25

(3) e (4) 22 —6x+9=0

(5)  22422-24=0 (6) 3224+ 18x+15=0
(1) (z—5)?2—4(x—5)=21 (8) 22-9r-9=0

9 222 +4r-4=0 (10) 22 — 220z + 7200 = 0
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2. ROFGEREBT. (SH2, A3, B4y, C#5530%8 )

(1)  22-289=0 (2)  1022=35

(3) x? = —15z (4) 22 —8x+16=0

(5) 2?2 422-48=0 (6) 32 +2lz+18=0
(1) (+3)2-3(x+3)=28 8) 22-5x-5=0

9 222482 -6=0 (10) 2% — 180z + 4500 = 0
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1.

RETFAN 2XkABX WBW3 02 BRERHR

ROFRERZRT. (SHh29, A3y, Bikdsr, Cb5m30%)

* 2 RAER (equdratic equation )
O FuhEsbrozidiud, H8 =0 18K T 3.
@ fol% NG TE RSO,

(1) 22— 144 =0

x? = 144
+12

(3) 22=-1llz

224+ 1lz = 0
r(z+11) = 0
Xl z+11=0
XlE x=-11

=0

=0

(5) x22+42x—-24=0

(x+6)(z—4)=0
r+6=0NlTxr—4=0
r=—-6Xldxz=4

(1) (x—5)2%—4(x—-5)=21

A=2-5 B &,

A2 —4A-21=0
(A+3)(A-T7)=0
{(z=5)+3H{(x-5)-T=0
(r—2)(x—12)=0
r—2=0XlFx—-12=0
r=2XlF z=12

(9) 222 4+4r—4=0

22 4+22-2=0 il =2
KRR R~ RDOBE R 5

—14+4/1% - 1x (-2)
1
zc:—l:l:\/§

xr =

—Hid =0 D
<1 % R R

+2+2=1

g

(4)

(6)

(8)

(10)

1022 = 25
x? = % <—ijd = 10
T = i\/g
r = +Y10
2

22 —6x+9=0
(=372 = 0  </EU% R
r—3 = 0

x 3

YWORTBRTEIV I ORI L2 ER L v,

322+ 18z +15=0
22 +6x+5=0 3] =3
(z+5)(x+1)=0
r4+5=0NlFax+1=0
r=—-5Xldz=-1

22 -9 —-9=0

(=9 £ V(92 -4 x 1 x(-9)
r= 2x%x1

94117
TE Ty
_ 9+3V13

o 2

— RO

x? — 220z + 7200 =0
(x —40)(x — 180) = 0 < /3% RB R
r—40=0 X% z—180 =0
=40 Xl& z = 180

Y BOTIRD L Z 2 A 3RO R (B 0)
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2. ROFGEREBT. (SH2, A3, B4y, C#5530%8 )

(1) 22 —289=0 (2) 1022 = 35
2 _ 2 7 T
2 = 289 2?2 = 5 < =10
r = =£17 - i\/g
r = +VY14
2
(3) 22 = —15z (4) 22 —8x+16=0
22 + 15z 0 44 =00 (r—4)2% = 0 < /Ed% KRB ®
z(z+15) = 0 —FEA % R r—4 = 0
=0 Nl z4+15=0 T = 4

—0 X z=-15
v X = K 2RABACTEAN 1O LDAEGT L%,

B L.

(5) 22 +22-48 =0 (6) 3224+ 21z +18=0
(r+8)(z—6)=0 224+ T7x+6=0 < =3
r+8=0XlFax—-6=0 (x4+6)(z+1)=0
r=-8XIldxz=6 r+6=0XlFxz+1=0

r=—6NXldx=-1

(1) (z+3)2—3(x+3) =28 8) 2?2-5rx-5=0
A=z +3LBCE, e —ENEVE —AXIX (D)
A2 —3A4-28=0 JE 2x1
(A+4)(A—T) =0 p=2EVD
{(z+3)+4H{(z+3)-7}=0 - 5+ 3V5
(x+7)(z—4)=0 - 2
r+T7T=0NlTxr—-4=0
r=-TXlEz=14
(9 222+8r-6=0 (10) 22 — 180z 44500 =0
22 4+42-3=0 <~ = 2 (r —30)(x — 150) =0 <723l % KRB iR
KAENA~T ROFE 2Ty +4+2=2 r—30=0XiFz—150=0
x =30 Xl = = 150
J— 2_ —
p= 2EVZ IO gt
SeRBRDRZ T G E 3RO AR (BEAF)
x=—-2+V7
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